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41. According to Isaac Asimov in Robots and people, computers and Robots can do the
following things
1) Making intelligent guesses 2) Solving mathematical problems
3) Sudden ways of understanding things  4) Supposing about something

42. According to the author in Robots and people, the following statement is not wrong
1) Human beings should help Robots to think
2) Both Robots and human intelligence should cooperate with the other
3) Robot intelligence should be able to do actions creatively
4) Robots and humans should be friends

43. The following statement(s) is true according to Stephen Leacock in How to Live to be
- 200 except
1) He suggests that man give up this obsession for good health and body building
2) He suggests that life the way she wants
3) One should fedl free to eat whatever s’lhe wants
4) He gives an example of Jigginswho lived 100 years

44. In the story How To Live To Be - 200, Fido was
1) A friend of Leacock 2) A bacillus of Leacock
3) A germ of Leacock 4) A contemporary writer of Leacock

45. In the story The Face On The Wall, the name of the man was same as the name of the
street was
1) The first extraordinary thing 2) The second extraordinary thing
3) The third extraordinary thing 4) None of the above

46. The common man is a best creation of?
1) R.K. Laxman 2) Tagore 3) Sarojini Naidu 4) Raja Rao

47. In the story The Gold Frame, the customer says that he had asked for
1) Anova cut mount frame 2) A sguare cut mount frame
3) Anova frame without frame 4) A sgquare shaped frame
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48. According to the short story, The Nightingale and the Rose, the following statement isNOT
true
1) The Holm- oak tree understood the feelings to the Nightingale
2) The student and the girl are shallow and materialistic
3) All the creatures of the world understood the feelings of the Boy
4) None of the above

49. In the story, The Nightingale and the Rose, the first song of the Nightingale was abo
1) The selfless love of Nightingale
2) The sacrifice of Nightingale's life for the love of the boy
3) The birth of passion in the soul of a man and a maid
4) The birth of love in the heart of aboy and a girl

50. In the story After Twenty Years, when Bob and Jmmy Walls parted, then,
1) Bob was twenty and Jimmy was Eighteen
2) Bob was eighteen and Jimmy was twenty
3) Bob and Jmmy were eighteen
4) Bob and Jmmy were twenty

51. In the story After Twenty Years, it was exactly O'clock when Jmmy and
Bob parted at the restaurant door.
1) Ten 2) Six minutestoten 3) Three minutesto Ten 4) five minutes to ten

52. The protagonist of the play Refund by Fritz Karinthy is_
1) The mathematics teacher 2) Warserkopf 3) The principal 4) the Leaderer

53. In the play Refund,The speaker of God bless you What's the name of this city?
1) The geography teacher 2) The emperor Barbarossa
3) The history teacher 4) Warserkopf

54. Imaginary conditional sentences may be used except
1) To express wishes 2) to express dreams
3) To express advice to others 4) To express past habits

55. The central theme of the play Mother's day by J.B priestly is
1) The status of mother 2) The status of children
3) The status of father 4) The status of neighbours
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56. The novel Animal Farm by George Orwell is considered except

1) An Allegory 2) A political novel 3) A Satire 4) A Gothic novel
57. George Orwell is pseudonym of

1) William Sydney porter 2) Oliver Goldsmith

3) Eric Arthur Blair 4) William Butler Yeats

58. In a play a character, who is alone on the stage, speaks his or her thoughts as seen in
the play, Hamlet to be or not to be this dramatic technique is known as
1) Monologue 2) Chorus 3) dialogue 4) Soliloguy

59. In the play Julius Caesar, who say's, | am constant as a northern star.
1) Julius Caesar 2) Marcus Brutus 3) MarcusAntony  4) Octavius Caesar

60. As flies to wanton lays, are we to the gods, they kill us for their sport are said by?
1) Macbeth in Macbeth 2) Portiain Julius Caesar
3) Antony in Julius Caesar 4) Lady Macbeth in Macbeth

61. Three witches appear in the follo-wing play of Shakespeare?
1) Julius Caesar 2) Othello 3) Macbeth 4) Hamlet

62. Beware of Ides of March is said by?
1) Soothsayer to Brutus 2) Soothsayer to Caesar
3) soothsayer to Antony 4) soothsayer to calpurnia

Read the following lines and answer the questions. Some are meet for a maiden'swrist
Silver and blue as the mountain -mist
63. Figure speech used in the above sentences is?

1) Simile 2) Personification 3) metaphor 4) Alliteration

64. The word some refersto?
1) Bangles 2) Brides 3) Maidens 4) Mountains

Read the following lines from the poem Because | could Not sleep for death. And answer
65& 66. We slowly drove, He knew no haste, And | had put away my L abour, and my
leisure Too, for hiscivility.

65. What made the speaker put away her labour, and her leisure?
1) The civility of the poet 2) The civility of immortality
3) The civility of the carriage 4) The civility of the death
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66. Form the lines, the pronouns he & his refer to?
1) Death 2) Immortality 3) The narrator 4) Eternity

67. From the poem Where the mind iswithout fear. Into that heaven of fr-eedom, my
father, Let my country awake. Here my father refersto?
1) Tagore 2) The narrator 3) The Almighty 4) The Audience

68. According to Tagore in the poem Where the mind is without fear. Domestic walls,
refers to?
1) Caste and creed 2) Language and state
3) Region and religion 4) al the above

69. The poem mother's day is written by?
1) Fritz Karinthy 2) JB priestly  3) Shiv K. Kumar 4) Sarojini Naidu

70. What does the expression Chinese house of dreams suggest in the poem mother's day
by Shiv K. Kumar?
1) Fantasy 2) Falsity 3) Redl 4) Authentic

71. In the poem, palanquin Bearers, the narrators of the poem are?
1) Sarojini Naidu 2) Princesses  3) Palanquin Bearers 4) Queens

72. PB Shelly'sthe cloud is ?
1) Long narrative  2) Long ballad  3) longode 4) short lyric

Read the following stanza and answer the questions

73. For after the rain when with never a stain The pavilion of Heaven is bare And the
winds and sun beams with their convex gleams. Build up the blue dome of air. From the
stanza, the pavilion of Heaven refers to?
1) The sky 2) The God 3) the earth 4) the water

Read the following stanza and answer 74-75. The wound it seemed Both sore and sad
to every Christian eye, And while they swore the dog was mad, They swore the man
would die!
74. The phrase sore and sad refers to?

1) Rough and gloomy 2) Painful and pitiable

3) painless and powerful 4) happy and gloomy
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75. The pronoun they refers to?
1) The man and the dog 2) the wondering neighbours
3) different dogs 4) people of Idlington

Read the following lines and answer the questions 76-77. The ascetic answered,
Woman, go one your way, when thetimeisripe, | will come to you.
76. From the stanza, what was the woman's way?

1) Way of enjoying pleasures of the world

2) Way of enjoying spiritual pleasures

3) Way of doing meditation

4) A life of enjoying all the pleasures of the spiritual world

77. The speaker of the above sentences is?
1) The dancing girl 2) The poet 3) Tagore 4) the ascetic

Read the following lines form Anecdote For Fathers. At Kilve there was no we-ather -
cock And that's the reason why.

78. The narrator of theselinesis

1) Wordsworth 2) Edward 3) Dorothy 4) Lucy

79. The word Kilve refers to?
1) The home at the Liswyn farm 2) The home at the delightful sea shore
3) The son of Wordsworth 4) The name of street in London

Read the following lines from the poem
Oh! | dothink it the pleasantest thing
Ever a child can do!
80. What is the pleasantest thing from the above lines?
1) The swing 2) Togo up inaswing 3) child 4) the air

81. Ralph Waldo Emerson wasa/an__ writer?

1) Canadian 2) British 3) Irish 4) American
Read the following lines from Day Break by H.W Longfellow. And answer 82-83. A wind
cameout of thesea. And said O mistsmakeroom for melf hailed the shipsand cried
sail on Ye Mainersthe night is gone.

82. And said, O mists, make room for me refers to?
1) Alliteration 2) Metaphor 3) Exaggeration 4) Simile
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83. The pronoun it refersto ?
1) Mist 2) The Sea 3) The wind 4) The night

84. God helps those who helps themsel ves the other form of the sentence is?
1) Those are helped themselves by the God
2) These are helped who helped themselves by the God
3) those were helped who help themselves
4) Those who help themselves are helped by god

Read the following passage and answer from 85-88.

Eat what you want. Eat lots of it. Yes, eat too much of it. Eat till you can just stagger
across the room with it and prop it up against a sofa cushion. Eat everything that you like
until you can't eat any more. The only test is, can you pay for it? If you can't pay for it,
don't eat it. And listen - don't worry as to whether your food contains starch, or albumen,
or gluten, or nitrogen. If you are a damn fool enough to want these things, go and buy
them and eat all you want of them. Go to alaundry and get a bag of starch, and eat your
fill of it. Eat it, and take a good long drink of glue after it, and a spoonful of Portland
cement. That will glutten you, good and solid.

If you like nitrogen, go and get a druggist to give you a canful of it at the soda counter,
and let you sip it with astraw. Only don't think that you can mix all these things up with
your food. There isn't any nitrogen or phosphorus or albumen in ordinary things to eat.
In any decent household all that sort of stuff iswashed out in the kitchen sink before the
food is put on the table.

85. What does L eacock wish to convey here?
1) to be serious 2) to be grave 3) to be carefree
4) to live life happily and death is sure whatever precaution we take against it

86. Why does he use the humorous tone to convey an important message?
1) heis very fond of making humour
2) it is his method to be humorous on the face of the serious
3) seriousness leads nowhere
4) he likes humour

87. Why does he suggest doing whatever one wishes without any seriousness?
1) he supports the idea of living life carelessly
2) too much of care leads to high seriousness, it restrictsthe  full enjoyment of life
3) to lead a bohemian life
4) to be happy
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88. What does happen if somebody becomes too conscious of what he eats?
1) it would be difficult for them to live, to be suspicious of everything isto lose interest
in everything
2) he cannot eat anything 3) become psychologically weak
4) life will seem bitters

89. What were they searching for last night ? it means.....
1) what were being searched for last night by them?
2) what was last night being searched for by them?
3) what were being searching for last night?
4) what are being searched for last night by them?

90. The following is not awrong group of words
1) nurses-faces-villages-jokes 2) dogs-ducks-teaches-friends
3) horses-teaches-washes-buses 4) cups-cooks-roofs-words

91 Choose the right phrasal verb in the following sentence "Ramesh is a haughty boy. He
IS the air from a bicycle tyre.
1) pumping out 2) letting out 3) Busting out 4) getting down

92. Choose the right main clause to the following conditional clause "If you had watched
English film,
1) you would have improved your English
2) you would had improved your English
3) you should improve your English
4) you will have improved your English

93. The correct response to the following question is "Do you want to speak at the
meeting?
1) Yes, | do 2) Yes, | am 3) No, | want 4) Yes, | can

94. "Don't buy them" Our driver said to us."You will find better strawberries in Verona'.
the reported speech of the above sentencesis....
1) Our driver said that not to buy them and added that they would find better
strawberries
2) Our driver said that we would find better strawberries in Verona and said not to buy
them
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3) Our driver warned as that not to buy them and said that we would find better
strawberries in Verona

4) Our driver asked us not to buy th-em and added that we would find better
strawberries in Verona.

95. If you combine the following two sentences,
A) Save moremoney B) You will live more comfortably. , Then you will get except,
1) save more money so as to live more comfortably.
2) save more money so that you will live more comfortably
3) save more money in order to live more comfortably
4) you will live more comfortably if you save more money

96. Choose the right phrase to fill the following blank. Husband: Sreenu is marrying an
American girl tomorrow wife: that's strange
1) I am surprised!  2) what! 3) Redlly! 4) No!

97. The following statement is true in relation to the use of will , except
1) will is used to talk about things the speaker cannot control
2) will is used to talk about things we are deciding to do at the moment of speaking
3) will is used to express a compulsory action
4) going to is used to talk about things people have already deci-ded to do

98. Match the following with the right options

1) make up one's mind 2) keep in one's mind

3) out of one'smind 4) in the mind's eye

a) remember b) mad C) to come to adecision d) In imagination
The correct order is

1) 1-d, 2-c, 3-b, 4-a 2) 1-b, 2-c, 3-d, 4-a

3) 1-a, 2-c, 3-d, 4-b 4) 1-c,2-a, 3-b, 4-d

99) The witness who identified the murderer was Mrs. Salmon. Here, the word who is

1) A conjunction 3) a pronoun 2) An adjective  4) a question word

100) Inwhich of the following sentences gerund used correctly?
1) We started riding this morning
2) He knew how much | am longing to ride
3) Watching television is my favourite hobby
4) They made him waiting for hours
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101) Which of the following group of words iswrong?
1) Persuade- persuatic- persuation 2) Affirm- affirmative- affimation
3) Admire- admirable- admiration 4) respond- respective- response

102) Choose the right modal verb to fill thefollowing blank You  smoke. It's bad for
your health.
1) Must 2) needn't 3) should 4) ought not to

103) Choose theright article in the following blanks. We just can'ttell ~ person who
has been workingon __ assembly line for twenty five years.
1) A, an 2) the, an 3) the, the 4) a a

104. The following sentence is not wrong
1) The marriage took place in accordance to the Hindu customs last year.
2) Vijay saved all the money with an eye with buying a house
3) Jiggins took half an hour brea-thing at the window in addition to the cold and hot
plunge
4) Despite of attending classes, the children did not their English.

105) The following statement is false except
1) None of the members have got a chance to take part in the.
2) Each of the families of the community is worried about potable water.
3) The chairman had better to give his decision before the campaign.
4) The no of books in the library are now about 300.

106) Rohan knows nothing about this, (Add a suitable question tag)
1) isn't this? 2) doesn't he? 3) wasHe? 4) doeshe?

107. Identify the correct spelt word from the following?
1) Manoeuvre 2) Manouevre 3) Manuoevre  4) Manovuere

108.0thello isthe shortest tragedy of Shakespeare. The sentence can also be expressed as?
1) Othello is shorter than many other tragedies of Shakespeare.
2) Othello is shorter than any other tragedies of Shakespeare.
3) Very few tragedies of Shakespeare are as short as Othello.
4) Some other tragedies of Shakespeare are at least as short as Othello.
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109. She said to the boy, " | am afraid the rose will not go with my dress." The sentence
can be rewritten as
1) She told the boy that she was afraid the rose would not go with her dress.
2) Sheasked the boy for her apology and said that the rose would not go with her dress.
3) Shetold the boy that the rose would not go with her dress.
4) She asked the boy that she was afraid and said that the rose will not go with her
dress.

110. The history teacher said to Wasserkopf, "How long did the thirty years of war last?"
(Convert the above sentence into reported speech)
1) The history teacher asked Wasserkopf that how long the thirty years' of war lasted.
2) The history teacher asked Wasserkopf how long had the thirty years of war |asted.
3) The history teacher asked Wasserkopf that how long the thirty years of war lasted?
4) The history teacher asked Wasserkopf how long the thirty years of war had |asted.

111. George Pearson was bewildered with the incisive behaviour of Mrs.Annie Pearson.
Here, the meaning of bewildered is
1) Shocked 2) startled 3) Confused 4) felt away

112. Choose the right phrase to fill the following blank Mr. Mukesh, the other member,
asked him training if it was required.
1) Areyou willing for a 2) If heiswilling to go for a
3) If you are willing to go for a 4) If he was willing to go for a

113. Which of the following is the correct use of subscription?
1) Yours sincerely 2) Yours faithfully
3) Yours Obediently 4) yours affectionately

114. The following sentence has an adverb of manner, except
1) Saina Nehwal played well yesterday.
2) Padma danced superbly last night.
3) Quadir speaks English easily and fluently.
4) Hussain painted lovely picturesin hislife.

115. Choose the correct simple past & past perfect tense in the following sentences
1) When the principal came, Sony has already went to sleep in the classroom.
2) It has already become dark when we arrived in our village.
3) The passenger found that some-body had stolen his purse yesterday.
4) Gandhiji had led many foot marches when the young Bahuguna was joining him.
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116. Choose the right word that indicates agreement
Samuel : | haven't got any money
Ismail : | haven't .
1) neither 2) nor 3) either 4) aso

117. Which of the following sentence has the structure (so + adv + that) ?
1) My father is so strong that he can fight alion
2) Chandramouli speaks so quickly that | can't understand him
3) Her eyes were so fierce that nobody dared to ook at her face
4) He was so brave that he wasn't afraid of the sphinx.

118. The word "Unenthusiastically" has the following syllables?
a) five b) seven Cc) Six d) Eight

119. 1) The doctor took out the writer's adenoids.
2) The nurse took away the writer's adenoids.
Which of the two persons actually removed the adenoids from the writer's month?
1) the doctor 2) The nurse 3) both @) & b) 4) The writer.

120. Which of the following is incorrect?
1) Do you know why birds migrate?
2) Do you know why do we celebrate Deepavali?
3) Do you know why he came here?
4) Do you know why he entered politics?

121. "The bird is making itself a nest here, "itself" isused as a
1) pronoun 2) personal pronoun
3) reflexive pronoun 4) noun

122. Which of the following sentences shows the possibility of an action ?
1) He can get through the driving test 2) He will get through the driving test
3) He may get through the driving test 4) He should get through the driving test

123. "Give me ared rose" and | will sing you my sweetest song" the Nightingale said.

One of the words that is stressed in the given sentences
1) And 2) will 3) my 4) sweetest
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Read the following poem answer from 124-128.

And Joy shall overtake us as a flood, When everything that is sincerely good And
perfectly divine, With Truth, and Peace, and Love shall ever shine About the supreme
Throne Of Him, t'whose happy-making sight alone, WWhen once our heav'nly-guided soul
shall climb, Then all this earthly grossness quit, Attir'd with Stars, we shall for ever sit,
Triumphing over Death, and Chance, and thee O Time.

124. "As Joy shall overtake us as aflood" refer to

1) Pun 2) Hyperbole 3) Metaphor 4) Simile

125. Thefollowing is not an obstacle in the way of doing good deeds according to the poet
1) Truth 2) Peace 3) Love 4) Time

126. According to the poet, A man cannot win over
1) Death 2) Destiny 3) Time 4) Love

127. In the poem, according to the poet the following is the important point in aman'slife
1) Love 2) Time 3) Happiness 4) Good deeds

128. The Director presented us M edals the structure of the sentence is
1) S+V + pronoun + complement 2) S+V + O, + O,
3) S+V+I10+DO 4) S+V + O + complement

129. The following statement is not related to Summative Evaluation.
1) It helpsfind out overal attitude of the learners
2) It is conducted at the end of the course.
3) Theresults of it are statistically interpreted.
4) It aims at improving the program at every stage.

130. Identify awrong matching pair.
1) Intelligence Tests - Construct validity.  2)Achievement Tests - Content validity
3) Aptitude Tests - Predictive Validity. 4) Aptitude Test - Concurrent Validity.

131. The following considered valid if
1) we get the same result repeatedly
2) Reliability of a test can be increased if a teacher increases the total number of
guestions in a question pape.
3) If atest isreliable then the test isvalid.
4) The personal Judgment of the scorer is taken into consideration in objective type
tests.
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132. Veena, ateacher of English asked the learners to write a composition
1) Subjective testing 2) Direct testing
3) Discrete testing 4) Integrative testing.

133.The percentage that should be given to Difficult in the Weightage to the difficult level
IS
1) 30% 2) 20% 3) 40% 4) 25%

134. Expository genre of discourse refersto
1) It portrays & person, place or athing which enables the reader to visualize writer's
experience.
2) It seeks to inform, explain, classify define or instruct.
3) It intends to convince the reader of a stated opinion or a belief.
4) All the above

135. Gopal, a student of 8th class, contributes articles to the school magazines, thisis a
specification under.
1) The students develop interest in English.
2) The students read with comprehension
3) The students speak simple and correct English.
4) The students write ssmple and correct English.

136. While teaching a prose lesson, a teacher of English evaluates the performance of the
entire lesson orally in the following.
1) Comprehension Questions.
2) Silent reading by the students
3) Recapitulation
4) Home Assignment.

137. A teacher of English uses the follo-wing in Remedial Teaching except
1) Identification of the most frequently occurring grammea-tical errors.
2) Using the non-detention scheme.
3) Motivating and creating interest in the leasner
4) Giving feedback and segregating them.

138. How do you teach the prepositions Over, On, between, behind .....etc and you
learners effectively?
1) Using real objects 2) Using matchstick diagrams
3) Using actions 4) Using pictures and charts
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139. Rama, a student of class- VII, usually produces alot sentencesin redl life situations.
Sometimes he doesn't recognize the rules behind the structures.
1) The Reductive Method 2) The Inactive Method
3) The Reactive Method 4) The inductive Method

140. The following is the main criteria for the selection of vocabulary for improving a
large vocabulary
1) Practicality 2) Objectivity
3) Rage and scope of the words 4) Complexity of the words

141. The following is not feature of the communicative approach
1) The forms are as important as the processes
2) Meaningful language promotes learning
3) Learners must have an opportunity to participate in Meaningful activities
4) Language is a means of communication

142. Classroom activities are carried out in the target language in the following method
1) The Direct method 2) The Bilingual method
3) The Dr.West method 4) The situational method

143. The process of transforming information from the visual to adialogue and vice versa
Isdonein

1) The structura approach 2) The communicative approach
3) The activity based teaching 4) The total physical resource
144. The Gestalt concept of learning the confirmed in the following method of teaching
reading
1) The alphabetic method 2) The word method
3) The sentence method 4) The phonic method

145. Which of the following is not bad habit of reading?
1) Moving lips tongue or vocal cords while reading silently
2) Backward movement along a line of point while reading
3) Pointing with finger or a pen at words while reading
4) Developing a narrow eye span to take a specific information

146. Which of the following activity doesn't come under Bottom - up listening process?
1) Dictation 2) Close listening
3) Multiple choice questions 4) The use of black board knowledge
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147. The following statement is not related to Michael West
1) He compiled the General Service list of English words (2000)
2) Exposing learners to language through reading would be better than to spoken form
3) Indians are learning English only to read
4) He proposed the Reading Method against to the Bilingual Method

148 Who defined language as a system of arbitrary vocal symbols used for human
communication?
1) Sapir 2) Finocchiaro 3) Pel 4) Wardhaugh

149. Yamini, a student of class- VIII, having listened to the poem the "Road Not Taken",
understood that the poem is about the importance of one's choicesin life this deals with
the following system of language
1) Morphology 2) Phonology 3) Syntax 4) Semantics

150. The National curriculum frame work for Teacher Education(NCFTE-2009) was designed

to focus on except.

1) The professional preparation of teachers which is crucia for the qualitative
improvement of school education

2) There is a close link between the school curriculum and teachers Education
curriculum

3) The professional preparation of Teachers for complete literacy

4) Field - based projects can be taken to unders paid the problems of children.

151. Which of the following word doesn't have the primary stress on the last syllable but
one?
1) Dramatization  2) Advantageous 3) Anaesthetic 4) Supernatural

152. The following sentence has Rising tone
1) We has alot of work (general statement)
2) It wasn't very good film, was it? (asking for agreement)
3) Thispenisyours, isn't it (asking for information)
4) Shruthi is beautiful (comment)

153. A teacher of English while reading a story meant for developing listening skills
1) The pupils listen to the story with their book opened
2) The pupils listen to the story with their books closed
3) Some pupils listen to the story with their books closed
4) the pupils repeat and recite the poem above
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154. Identify the correct minimal pair
1) Seat - sheep 2) Sip-ship 3) Sip- sheep 4) Put - but

155. One of the characteristics of the Structural Approach is that
1) Children learn to use words every day
2) Language learning begins with the spoken form
3) The teaching items are presented in the written form first
4) Children must learn to read first

156. The following sentence has rising tone
1) What a beautiful garden! 2) The house was nice
3) Go away 4) Please, close the door.

Read the following poem and answer the questions 157-159. Let me not to the marriage
of true minds Admit impediments. Love is not love Which alters when it ateration finds,
Or bends with the remover to remove: O no! it isan ever-fixed mark That |0oks on tempests
and is never shaken; It is the star to every wandering bark, Whose worth's unknown,

although his height be taken.
157. In the poem, the poet compares Love with

1) A mark and fool 2) A fixed mark and a star

3) Fool and impediment 4) A wandering bark and sickle
The above question is an example for

1) Factual question 2) global question

3) Inferential question 4) critical question

158. "It is an ever-fixed mark" refersto

1) Simile 2) Metaphor 3) Alliteration 4) Hyperbole
The above question is an example for

1) Factual question 2) Inferential question

3) global question 4) critical question

159. The central idea of the poem is

1) Constancy of true love 2) Constancy of true time

3) Love of Shakespeare 4) Difference between love & time.
The above question is an example for

1) Factual question 2) global question

3) Inferential question 4) critical question
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160. The following word has stress on the second syllable
3) orthodox

1) Superficial

KEY

41) 2 42) 2
49) 4 50) 2
57) 3 58) 4
65) 4 66) 1
73) 1 74) 2
81) 4 82) 1
89) 1 90) 3
97) 3 98) 4
105) 2 106) 4
113) 1 114) 4
121) 3 122) 3
129) 4 130) 4
137) 4 138) 2
145) 4 146) 4
153)2  154) 2
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2) Extraordinary

43) 4
51) 1
59) 1
67) 3
75) 2
83) 3
91) 2
99) 3
107) 1
115) 3
123) 4
131) 2
139) 4
147) 4

155) 2

44) 2
52) 2
60) 1
68) 4
76) 1
84) 4
92) 1
100) 1
108) 2
116) 3
124) 4
132) 4
140) 2
148) 4

156) 4
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45) 2
53) 2
61) 3
69) 3
77) 4
85) 3
93) 1
101) 4
109) 2
117) 2
125) 4
133) 2
141) 1
149) 1

157) 1

4) Politics
46) 1 47) 1
54) 4 55) 1
62) 2 63) 1
70) 2 71) 3
78) 2 79) 2
86) 2 87) 2
94) 4 95) 4
102) 4  103)1
11004  111) 2
118)4  119)1
126) 3 127) 2
134)2 1351
142)1  143) 2
150)3  151) 4
158)1  159) 2

48) 3
56) 4
64) 1
72) 3
80) 2
88) 1
96) 3
104) 3
112) 4
120) 2
128) 3
136) 3
144) 3
152) 3

160) 2



